RILY 1 911 ¥ —iR type997 A LB performance Y 7/\> I\—EX{}5iEAE
LB performance Rear Bumper Installation Manual for Porsche 911 Turbo type 997

ZDEE. thXEttLibertyWalk LB-performance D& &% &E L)
RKOWEE BICH DM ESTTVNET,

AERERLICERL W< AIC, RETHAEZE L < BFHHD
EVEULKEDFFETo>TLEE W,
BEWKRHOBEEHERARBEFIEIC TRO M FZEEVNWNULET,
e O FF#IE ABZLT I —HRABELILEI W,

LB« PERFORMANGE

BN http://Ib-performance.com/

Thank you for purchasing Liberty Walk LB Performance products.
Please read this Installation Manual thoroughly and correctly install the
kit to ensure proper and safe use of this product.

Installation by a professional installer is recommended. After installation,
keep this Installation Manual handy for quick reference.

 ———————

Porsche 911 Turbo type 997 Body Kit : Liberty Walk- Japan



2SLB %< PERFORMANGE #)L>x 911 ¥—1K type997 F LB performance ) 7/\> /\—E{3HEEE o

LB performance Rear Bumper Installation Manual for Porsche 911 Turbo type 997

e ]
- AERE. FRPERRTY. A EEEIE

- R HERE (BRBRSE) OFBPREDOBIEOEBNEZRERL TR,

- DT EEIR BT 2AETIT> TS,

- AERIE ERRCHBORECS D —BMIHABERBELNBDEIDT BT 71y T VI EZRERL TILE L,
(TA4v T« VI DBRICIE. BRICFXBRENMIDBVESIC. T—TETREL T LEW)

CBREBEEE POEBTNY, BEREDNRETZIBENCEVET, BROTHIBEDRRICEREL TS WL,

c BEBHIREBEAVLY Y RERE ARSI,

- BRI BITBRICTIT>TCREW, (BEMAXT EERTIB/NLNHDEIY)

- INT#. BEE, BHFROBRIISEEBENRT,

CEBICERIEZ EBEOBRNND D ET DT, HEFITTHRVTL LT L,
Flechick > TRELBIBIEE. YU TIEF—VEEEZEVWETADT, TTHELIZEI L,

c AEZOMI., HAFRE, BEAICEBIFRER, ERICOVWTR BETRE—EEZEVWETAD T, TTERLIEE L,

- ARBFBOED 7%, 24BRAURIGEWVERZSZ /2D KEE (KITEST) 21ThBRVTILEE 0,

CARBBIE FE - RLATZ Y 7REBRICERDET, SETREATE A,

s A—RVIN=VRBT VIV PEZBEUVUTEESREIW, ZOFXSHEAWLEL EFNMRICEZZEBOAREENH D XTI,

/\ Important Points |

- After opening package, please immediately inspect the contents for missing parts or damage with reference to the component parts.

- This product is made using FRP (Fiberglass Reinforced Plastic)

- Installation work must be done by two or more people.

- For this kit, processing may be partially required due to the tolerance of the vehicle or product, so be sure to confirm fittings.
(Protect the car's body panels using masking tape etc. to avoid damage during fitting.)

- Burrs, holes, etc. may necessarily occur when fairing the kit. Remove them when painting the base coat.

- Be sure to use soft resin Urethane paint.

- Be sure to conduct coating drying at normal temperature. (Applying heat may deform the components.)
- Parts cannot be returned after being modified and/or painted.

- Do not force any components to fit. Forcing can result in damage to the parts.
We will not be responsible for any parts broken due to force fitting.

- Note that we assume no responsibility to any accidents or faults due to modification and improper use or installation.
- Do not wash (let it get wet with water) or make a strong impact on a vehicle within 24 hours after the installation.
- This product is meant for competition, show and off-road purposes only.

- Be sure to paint the clear coating for carbon parts. If using the kit as is, it may turn color due to infrared rays.

/N\ BUHERDRETIE

- AERBFFRPERRD o, EXPNIL N ZELHONITBED &, RIET BB D HI,

- ARBERONFZRIIC, BTBIEEZTSRT A BUENRAF Y I T—TRETEELTIREL,
SRV RPERICRIAY I MEFERL TRO [T ASICAET — 7R E2ERIT N LDBREBEENTEET,
ATV KRNy TS0 T OEIRIRNE BEREHEREDRIICIT> TLIEE W,

/\ Read Before Installation |

- This product is made from FRP (Fiberglass Reinforced Plastic). Over-tightening screws and bolts may result in damage to the components.
- Be sure to cure the area around the body panels using masking tape etc. before the installation.
- Using lock-tight and/or double sided tape for the screws and bolts, will help ensure a more secure fit.

- Disconnect the wire for high mount stop lamps before installing this kit.




LB X PERFORMANGE £/ >z 911 #—iK type997 A LB performance ') 7/t /S —I{I5iEAE

LB performance Rear Bumper Installation Manual for Porsche 911 Turbo type 997 6

LB performance Y 7/\>/\— ERRiERRER A BERIC. BTRBEEZELTEZ W,
LB Performance Rear Bumper Parts Diagram /\ Please read this manual prior to painting!

EBm&T Parts Name B gty | EREBI Parts Name {E#L gty

[} U7/t /%~ / Rear Bumper 1 AL b (M6 x 15mm);/ Bolt (M6 x 15mm) W 18
Vrevdy—57471—%—/ . W

B Rear Diffuser - Center Piece 1 AL (M6 x 20mm)/ Bolt (M6 x 20mm) 12

RIL (M8 x 35mm);/ Bolt (M8 x 35mm) W 6

M67 v k / M6 Nut ) 30
7w+ — / Washer 30

= E -
AEY L8 Tools Required A BFRRICA->ETREERLTEE W,

BAFEICEDLBWIEZFERALEIER. RYPE
NJLZ Z RS /8— / Torx Screwdriver mEFEIT BN BD EFT,

ZJXF+ (10mm) / open end wrench (10mm)

A\ Be sure to use tools that properly fit. Failure
to use good and proper fitting tools may
result in damage to the components.

SHENR V7 E / Permanent Marker (/ Pen) etc.

BEIR YU JL (6Bmm) / Electric Drill (6mm)




2SLB < PERFORMANGE #)L>x 911 ¥—1K type997 F LB performance ) 7/\> /\—EIHEEE 4

LB performance Rear Bumper Installation Manual for Porsche 911 Turbo type 997

/\"—‘yo)ﬂyb ﬂ“b AI%F (10mm) / Use 10mm open end wrench
How to properly remove the parts

@ AV EEREEROALET,
@ Remove inner fender liners from each side.

L\

—
8

s .\\:\f\

___Jo

7z —1vFr—/
Inner Fender Panel

/\o—‘y @Hy D 91‘ 'J RIXF (10mm) / Use 10mm open end wrench
How to properly remove the parts

@7 LT hERDALET,

@ Remove Tail Lights.
2
[

T e
/\/‘ / " ‘\O"/
[ ‘@7

s i N

==l

T=ILI1h/
Tail Lights

8




LB PERFORMANGE /Ly x 911 #—iK type997 A LB performance V) 7/\> /\—B {5t BHE

LB performance Rear Bumper Installation Manual for Porsche 911 Turbo type 997

/—7“&/\“//\"—0)“0%[/ Y7k (13mm) / 13mm Socket

Removing Original Bumper

@ VUFNVIR—DOEDOIFRILE TOXY REBLVOFVYN—TL—KSVTEZROHALET,
ZFO0H., /—XRINVI\—2EMHSEOALET,

@ Remove the rear bumper bolts, grommets and license plate light.
Then, remove the original bumper from the car.

—— J8Xv bk / Grommets

!
W

+>IN\—7L—kZ>7/ License Plate Light

IN—Y DO AL

ZJ%F (10mm) / Use open end wrench (10mm)
How to properly remove the parts

N AF > Y F7—7/ Masking Tape

@ VI—U—F—FUVRNEBROAL. X T7T—hvy—EBELET,
@ Remove the intercooler ducts, and cure muffler cutters.

% RTIS—NYI—ERRAF VI F—TETEEL TS W,

% Cure muffler cutters using masking tape etc.
A9 —9—5—%5% K~/ Intercooler Duct




LB PERFORMANGE H/L>x 911 #—iK type997 A LB performance V) 7/\> /\—B {15 BHE

LB performance Rear Bumper Installation Manual for Porsche 911 Turbo type 997

6 LB performance YJ 7\ I\—DEHILT 5o b (13mm) / 13mm Socket
LB Performance Rear Bumper Assembly

@ U7 NYNR—=FHAILT, /=N IR=DSBWOALIcF Y NN=T L= T2lBHTFET,
@ Assemble the rear bumper and attach the license plate lamp removed from the original bumper to it.

> I\—TFL—bZ>7/ License Plate Lamp

LB 7/X>IX— / LB Rear Bumper E ‘

ge HRILE (M6x 25mm) /
] & Bolt (M6 x 25mm)

______

7wy — [ Washer
Xw¥a [/ Mesh

Fv b / Nut

I%] Y7ty 47—+ 7 a1—H— / Rear Diffuser - Center Piece

6 Y7 INVIN—DED {17

) ZI%F (10mm) / Use open end wrench (10mm)
Installing Rear Bumper
@ U7 NYNN—ZEmICEDHITET, =
@ Install the rear bumper on the car. i il L
77 e °O° ’
& \%‘s
el 5g
s \\///4 Ny
A = NG O
'q,—%—v =4\ J0OXw bk / Grommets

=

A INVIS—EUHEEE. I 2 AL ETHE A Bumper installation work must be done by two or more people.

RULTLEE W, EMTOERIZ. & Failure to do so may give damage to a vehicle and/or parts.
PEHEZRESEBNDHD FT,




2SLB < PERFORMANGE #)L>x 911 ¥—1K type997 F LB performance Y 7/\> /\—EX{3HHBEE -

LB performance Rear Bumper Installation Manual for Porsche 911 Turbo type 997

IN—Y DED 7

Reinstalling Remaining Parts ZJ%F (10mm) / Use open end wrench (10mm)

@7 LF1hEROHITFET,
@ Reinstall the Tail Lights.

T=IL31h/
Tail Lights

AN\ LBYZNRYN—EFBICTY Yy T7—REMBAL. F% A\ After installation is complete, test the opening
ZFDENWC EZHEREULTLLLEZ L, and closing of the engine hood to make sure
nothing is hitting or scraping.

/N\EEEER /\ Important Points
/\ ETHIIRERORIL DEERICEESNTWIHERE /\ Always confirm that the bolts and screws are
LTS, tight before driving.
/\ ETHIREN—YOTFSEHNBVN LERBLTLE /\ Always confirm that none of the components are
1AM interfering, etc., before driving.

/N ETHIRSA MPRANY 75V TEOBRBEHES /\ Always confirm that the high mount stop lamps
THBEHERBLTLESZ W, and other lights are properly functioning on your
car before driving.
/A ETHCEEELREVLBAIIE. KEBIEBEL
TEEIBVIERLTSES W, /\ If any problem occurs during driving, such as
abnormal noise, stop the car immediately and
investigate the problem.

BRICOVWTOBHEWELERF. TRETEEWWLET, Please contact us if you have any questions regarding this product. The
LHWEBT A ~& D, BRFIOBRGHAEEZSY VY O—RTE£T, latest instruction manuals are available for download from our website.

BRLH Y NF oA —2 488-0023 BMEERRBA#ESIET1-178

W Liberty Walk [@ 0561-51-0003 0561-51-0004
™ www.libertywalk.co.jp [ info@libertywalk.co.jp




